

Singularity formation of compressible Euler equations with source term

Ran Guo

Department of Mathematics
Shandong Normal University, Jinan, 250014, China
Email: 1564290231@qq.com

Mengmeng Shang

Department of Mathematics
Shandong Normal University, Jinan, 250014, China
Email: 2523659632@qq.com

Abstract

In this paper, we mainly study the blow-up of classical solutions to one-dimensional compressible Euler equations with source term. We discussed separately the cases of source term with Riemann invariants and Riemann invariants function. The method we adopted here is to reduce the system to a diagonal form system by introducing the Riemann invariant. Then, we proved the solution blow-up in a finite time when the initial data satisfy certain conditions.

Mathematics Subject Classification: xxxxx

Keywords: Blow-up of classical solutions, Compressible Euler equations, Riemann invariant, Diagonal form system.

1 Introduction

We are interested in the blow-up of classical solutions to the Cauchy problem of one-dimensional compressible Euler equations

$$\begin{cases} \rho_t + (\rho u)_x = 0, \\ u_t + uu_x + \frac{1}{\rho} p_x = 0, \\ \rho|_{t=0} = \rho_0(x), \quad u|_{t=0} = u_0(x), \end{cases} \quad (1.1)$$

where x is the spatial variable, $t \in \mathbb{R}^+ = [0, \infty)$ is the time. u stands for the velocity of the gas in the x direction. ρ, p denote the density and pressure, respectively. Besides, $p = K\rho^\gamma$ (constants $K > 0, \gamma > 1$), $\rho_0(x) > \bar{\rho} > 0$ ($\bar{\rho}$ is a positive constant), $\rho_0(x) \in C^1(\mathbb{R}), u_0(x) \in C^1(\mathbb{R})$. We study the singularity formation of compressible Euler equations (1.1) with the source term of both Riemann invariants and Riemann invariants function.

Before proceeding, we briefly review some previous results of singularity formation for compressible Euler equations (1.1). In the case of one dimension, the relativistic methods have been treated extensively. [5, 6, 13] obtained that no matter how small and smooth the initial value is, the solution of (1.1) will blow-up in finite time. The blow-up for compressible Euler equations under Lagrangian coordinates has studied by [1]. For more information about this model, we can refer to the review [3, 4]. In the case of more than one space dimension, the earlier study was [12], in this paper, author used the method via certain averaged quantities to prove the formation of singularities in three-dimensional compressible Euler equations. Besides, [8, 10, 14] and [2, 11] used a similar approach to obtain other formation of singularity theorem for classical fluids and relativistic fluids, respectively. [9] studied the blow-up of smooth solutions for the relativistic Euler equations. But none of above studied the singularity formation of compressible Euler equations with the source term like our paper does.

2 Main Results

To our end, we first introduce the system of compressible Euler equations with the source term of Riemann invariants

$$\begin{cases} \rho_t + (\rho u)_x = 0, \\ u_t + uu_x + \frac{1}{\rho} p_x = u - \frac{2c}{\gamma - 1}, \\ \rho|_{t=0} = \rho_0(x), \quad u|_{t=0} = u_0(x), \end{cases} \quad (2.1)$$

where ρ, u, p denote the same thing as above, define $c^2 = \frac{dp}{d\rho}$. We introduce the Riemann invariant $w = u - \frac{2c}{\gamma - 1}, z = u + \frac{2c}{\gamma - 1}, w|_{t=0} = w_0, z|_{t=0} = z_0$.

Remark 2.1 *When the system (1.1) has the source term of Riemann invariants, we only study the case where the source term is $w = u - \frac{2c}{\gamma - 1}$. In the case of $z = u + \frac{2c}{\gamma - 1}$, the research method is the same, we won't go into details here.*

The first main result of this paper is given below.

Theorem 2.2 *Suppose that at least one of the equations w_0 and z_0 is not a monotonic increasing function, then the solution of system (2.1) will form singularity in finite time.*

Then we introduce a more general system of compressible Euler equations with the source term of Riemann invariants function

$$\begin{cases} \rho_t + (\rho u)_x = 0, \\ u_t + uu_x + \frac{1}{\rho} p_x = f(u - \frac{2c}{\gamma-1}) + M, \\ \rho|_{t=0} = \rho_0(x), \quad u|_{t=0} = u_0(x), \end{cases} \quad (2.2)$$

where $f(u - \frac{2c}{\gamma-1}) \in C^1(\mathbb{R})$ and bounded, M is a constant.

Remark 2.3 *Similarly, we only study the case where the source term is $f(u - \frac{2c}{\gamma-1}) + M$, for the source term $f(u + \frac{2c}{\gamma-1}) + N$ (N is a constant), the research method is the same, we won't repeat it here.*

The second main theorem of this paper is the following.

Theorem 2.4 *Suppose that at least one of the equations w_0 and z_0 is not a monotonic increasing function, $f(w)(f(z)) \in C^1(\mathbb{R})$ and bounded, then the solution of system (2.2) will form singularity in finite time.*

3 Proof of Theorem 2.2

Define

$$U = \begin{bmatrix} \rho \\ u \end{bmatrix}, \quad A = \begin{bmatrix} u & \rho \\ \frac{c^2}{\rho} & u \end{bmatrix},$$

then the first two equation of (2.1) can be rewrite as

$$\partial_t U + A \partial_x(U) = \begin{bmatrix} 0 \\ u - \frac{2c}{\gamma-1} \end{bmatrix}.$$

The eigenvalue of A are

$$\lambda = u - c, \quad \mu = u + c.$$

The corresponding left eigenvectors are

$$\xi_1 = (c, -\rho), \quad \xi_2 = (c, \rho), \quad (3.1)$$

right eigenvectors are

$$\zeta_1 = (\rho, -c)^T, \quad \zeta_2 = (\rho, c)^T. \quad (3.2)$$

Recall the Riemann invariants

$$\begin{aligned} w &= u - \int \frac{c}{\rho} d\rho = u - \frac{2c}{\gamma - 1}, \\ z &= u + \int \frac{c}{\rho} d\rho = u + \frac{2c}{\gamma - 1}, \end{aligned} \quad (3.3)$$

thus the first two equations of (2.1) can be rewrite as

$$\begin{cases} \partial_t w + \lambda(w, z) \partial_x w = w, \\ \partial_t z + \mu(w, z) \partial_x z = w, \end{cases} \quad (3.4)$$

where

$$\begin{cases} \lambda(w, z) = u - c = \frac{\gamma + 1}{4} w + \frac{3 - \gamma}{4} z, \\ \mu(w, z) = u + c = \frac{3 - \gamma}{4} w + \frac{\gamma + 1}{4} z. \end{cases} \quad (3.5)$$

Define

$$l = \partial_t + \lambda \partial_x \quad \backslash = \partial_t + \mu \partial_x.$$

Firstly, we consider w , take the derivative of both sides of the equation (3.4)₁ with respect to x , we have

$$w_{tx} + \lambda w_{xx} + \lambda_w w_x^2 + \lambda_z w_x z_x = w_x. \quad (3.6)$$

Besides, from

$$\begin{aligned} w &= z_t + \mu z_x = z l, \\ z_t + \lambda z_x &= z l, \end{aligned} \quad (3.7)$$

we have

$$z_x = \frac{z l - w}{\lambda - \mu}. \quad (3.8)$$

Then, combining (3.6) and (3.8), we have

$$w_{tx} + \lambda w_{xx} + \lambda_w w_x^2 + \lambda_z w_x \frac{z l - w}{\lambda - \mu} = w_x. \quad (3.9)$$

Define $\alpha = w_x$, we obtain

$$\alpha l + \lambda_w \alpha^2 + \alpha \left(\frac{z l - w}{\lambda - \mu} \lambda_z - 1 \right) = 0. \quad (3.10)$$

Define h is a function of w , z and satisfy

$$-h_w = h_z = \frac{\lambda_z}{\lambda - \mu}, \quad (3.11)$$

that is $h(w, z) = \frac{\gamma - 3}{2(\gamma - 1)} \ln(z - w)$.

From $w' = w$, we have

$$h' = h_w w' + h_z z' = -\frac{\lambda_z}{\lambda - \mu} w + \frac{\lambda_z}{\lambda - \mu} z' = \frac{z' - w}{\lambda - \mu} \lambda_z. \quad (3.12)$$

Thus, combining (3.10) and (3.12), we obtain

$$\alpha' + \lambda_w \alpha^2 + \alpha(h' - 1) = 0. \quad (3.13)$$

Multiply both sides of equation (3.13) by e^{h-t} , we have

$$\alpha' e^{h-t} + \alpha(h' - 1)e^{h-t} + \lambda_w \alpha^2 e^{h-t} = 0, \quad (3.14)$$

that is

$$(\alpha e^{h-t})' + \lambda_w e^{-h+t} (\alpha e^{h-t})^2 = 0, \quad (3.15)$$

where we have used

$$(h - t)' = h' - 1. \quad (3.16)$$

Define

$$\tilde{\alpha} = \alpha e^{h-t},$$

thus

$$\tilde{\alpha}' = -a \tilde{\alpha}^2, \quad (3.17)$$

where

$$a = \lambda_w e^{-h+t} = \frac{\gamma + 1}{4} (z - w)^{\frac{3-\gamma}{2(\gamma-1)}} e^t > 0. \quad (3.18)$$

From the definition of α , we can get it's initial value α_0 satisfy

$$\tilde{\alpha}(x_0, 0) = e^{h(w_0(x), z_0(x))} \alpha_0(x). \quad (3.19)$$

Suppose $x = x(x_0, t)$ is the first characteristic curve that starts at any point $(x_0, 0)$, then integrate the equation (3.17) along it to obtain

$$\frac{1}{\tilde{\alpha}(x(t), t)} = \frac{1}{\tilde{\alpha}(x_0, 0)} + \int_0^t a(x(v), v) dv. \quad (3.20)$$

Suppose that at least one of the equations w_0 and z_0 is not a monotonic increasing function, from (3.20), we can obtain the Cauchy problem (2.1) will blow-up in a finite time. Thus we have deduce Theorem 2.2.

4 Proof of Theorem 2.4

Similar with the prove of Theorem 2.2, firstly, we define

$$V = \begin{bmatrix} \rho \\ u \end{bmatrix}, \quad \Lambda = \begin{bmatrix} u & \rho \\ \frac{c^2}{\rho} & u \end{bmatrix},$$

then the first two equations of (2.2) can be rewrite as

$$\partial_t V + \Lambda \partial_x(V) = \begin{bmatrix} 0 \\ f(u - \frac{2c}{\gamma-1}) + M \end{bmatrix}. \quad (4.1)$$

Similarly, the eigenvalue of Λ are

$$\lambda = u - c, \quad \mu = u + c, \quad (4.2)$$

left eigenvectors are

$$\xi_1 = (c, -\rho), \quad \xi_2 = (c, \rho), \quad (4.3)$$

right eigenvectors are

$$\zeta_1 = (\rho, -c)^T, \quad \zeta_2 = (\rho, c)^T. \quad (4.4)$$

Using the Riemann invariants, the first two equations of (2.2) also can be rewrite as

$$\begin{cases} \partial_t w + \lambda(w, z) \partial_x w = f(w) + M, \\ \partial_t z + \mu(w, z) \partial_x z = f(w) + M, \end{cases} \quad (4.5)$$

where

$$\begin{cases} \lambda(w, z) = u - c = \frac{\gamma+1}{4}w + \frac{3-\gamma}{4}z, \\ \mu(w, z) = u + c = \frac{3-\gamma}{4}w + \frac{\gamma+1}{4}z. \end{cases} \quad (4.6)$$

Firstly, we consider w , take the derivative of both sides of the equation (4.5)₁ with respect to x , we have

$$w_{tx} + \lambda w_{xx} + \lambda_w w_x^2 + \lambda_z w_x z_x = f_w(w) w_x. \quad (4.7)$$

From (4.5), we have

$$\begin{aligned} f(w) + M &= z_t + \mu z_x = z\Lambda, \\ z_t + \lambda z_x &= zI, \end{aligned} \quad (4.8)$$

thus

$$z_x = \frac{zI - (f(w) + M)}{\lambda - \mu}. \quad (4.9)$$

Combing (4.7) and (4.9), we have

$$w_{tx} + \lambda w_{xx} + \lambda_w w_x^2 + \lambda_z w_x \frac{z' - (f(w) + M)}{\lambda - \mu} = f_w(w) w_x, \quad (4.10)$$

from $\alpha = w_x$, we have

$$\alpha' + \lambda_w \alpha^2 + \alpha \left(\frac{z' - (f(w) + M)}{\lambda - \mu} \lambda_z - f_w(w) \right) = 0. \quad (4.11)$$

Define h is a function of w , z and satisfy

$$-h_w = h_z = \frac{\lambda_z}{\lambda - \mu}, \quad (4.12)$$

thus we have $h(w, z) = \frac{\gamma - 3}{2(\gamma - 1)} \ln(z - w)$.

Besides, from $w' = f(w) + M$, we have

$$h' = h_w w' + h_z z' = -\frac{\lambda_z}{\lambda - \mu} (f(w) + M) + \frac{\lambda_z}{\lambda - \mu} z' = \frac{z' - (f(w) + M)}{\lambda - \mu} \lambda_z. \quad (4.13)$$

Combing (4.11) and (4.13), we obtain

$$\alpha' + \lambda_w \alpha^2 + \alpha (h' - f_w(w)) = 0. \quad (4.14)$$

Multiply both sides of equation (4.14) by $e^{h - \ln(f(w) + M)}$, we have

$$\alpha' e^{h - \ln(f(w) + M)} + \alpha (h' - f_w(w)) e^{h - \ln(f(w) + M)} + \lambda_w \alpha^2 e^{h - \ln(f(w) + M)} = 0, \quad (4.15)$$

then we have

$$(\alpha e^{h - \ln(f(w) + M)})' + \lambda_w e^{-h + \ln(f(w) + M)} (\alpha e^{h - \ln(f(w) + M)})^2 = 0, \quad (4.16)$$

where we have used

$$(h - \ln(f(w) + M))' = h' - \frac{(f(w))'}{f(w) + M} = h' - \frac{f_w(w) w'}{f(w) + M} = h' - f_w(w). \quad (4.17)$$

Define

$$\tilde{\alpha} = \alpha e^{h - \ln(f(w) + M)}, \quad (4.18)$$

thus

$$\tilde{\alpha}' = -a_1 \tilde{\alpha}^2, \quad (4.19)$$

where

$$a_1 = \lambda_w e^{-h + \ln(f(w) + M)} = \frac{\gamma + 1}{4} (z - w)^{\frac{3-\gamma}{2(\gamma-1)}} (f(w) + M), \quad (4.20)$$

because there exist a constant M satisfy $f(w) + M > 0$, thus we have $a_1 > 0$.

From the definition of α , we can get it's initial value α_0 satisfy

$$\tilde{\alpha}(x_0, 0) = e^{h(w_0(x), z_0(x)) + \ln(f(w_0(x)) + M)} \alpha_0(x). \quad (4.21)$$

Suppose $x = x(x_0, t)$ is the first characteristic curve that starts at any point $(x_0, 0)$, then integrate the equation (3.17) along it to obtain

$$\frac{1}{\tilde{\alpha}(x(t), t)} = \frac{1}{\tilde{\alpha}(x_0, 0)} + \int_0^t a_1(x(v), v) dv. \quad (4.22)$$

Suppose that at least one of the equations w_0 and z_0 is not a monotonic increasing function, from (4.22), we can obtain the Cauchy problem (2.2) will blow-up in a finite time. Theorem 2.4 is proved.

References

- [1] G. Chen, R. Pan, S. Zhu. Singularity formation for compressible Euler equations. *Mathematics*, 2014, 49(4).
- [2] Y. Guo, Tahvildar-Zadeh A S. Formation of singularities in relativistic fluid dynamics and in spherically symmetric plasma dynamics. *Volcanic Lakes*. Springer Berlin Heidelberg, (1999),401-425.
- [3] F. John, Formation of singularities in one-dimensional nonlinear wave propagation. *Communications on Pure, Applied Mathematics*, 27 (1974),377-405.
- [4] S. Klainerman, Majda A. Formation of singularities for wave equations including the nonlinear vibrating string. *Communications on Pure, Applied Mathematics*, 33 (1980),241-263.
- [5] T. Liu, Development of singularities in the nonlinear waves for quasi-linear hyperbolic partial differential equations. *Journal of Differential Equations*, 33 (1979),92-111.
- [6] P. Lax, Development of Singularities of Solutions of Nonlinear Hyperbolic Partial Differential Equations. *Journal of Mathematical Physics*, 5 (2004),611-613.
- [7] T. Makino, S. Ukai and S. Kawashima, sur la solutions a support compact de lequation dEuler compressible, *Japan J. Appl. Math.* 3 (1986),249-257.
- [8] T. Makino, S. Ukai and S. Kawashima, sur la solutions a support compact de lequation dEuler compressible, *Japan J. Appl. Math.* 3 (1986),249-257.

- [9] R. Pan, J A. Smoller Blowup of Smooth Solutions for Relativistic Euler Equations. *Communications in Mathematical Physics*, 262 (2006),729-755.
- [10] B. Perthame. Non-existence of global solutions to Euler-Poisson equations for repulsive forces. *Japan Journal of Applied Mathematics* 7 (1990),363-367.
- [11] A. Rendall, The initial value problem for self-gravitating fluid bodies, *Mathematical Physics, X* (Leipzig, 1991)(Berlin), Springer, Berlin (1992),470-474.
- [12] T. Sideris, Formation of singularities in three-dimensional compressible fluids. *Communications in Mathematical Physics*, 101 (1985),475-485.
- [13] J. Smoller, *Shock Waves and Reaction-Diffusion Equations*. SPRINGER-VERLAR, 1983.
- [14] Z. Xin, Blow up of smooth solutions to the compressible Navier-Stokes equation with compact density, *Comm. Pure Appl. Math.* 51 (1998),229-240.

Received: June 26, 2018